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There are in all 30 questions in this question paper. All questions are compulsory
gt 2 iR sfe 96 aw @ ifdhd 2|

Marks allotted to the questions are mentioned against them.

ge AR 1 AT U T 39 U @ IS W8 & SR H aR fdmed fad
T 2| e fAewed oo Itk gRawr # fafey| ued @ 2 9 9 9 fAfdad
ST g7 2|

Question No. 1 is multiple choice question. Four options are given in answer of each
part of this question. Write correct option in your answer book. Question No. 2 to 9
are definite answer type questions.

e =T 1 P UAD @S Udh AP BT o | e G 2 H 9 Td TUd 3P & U
2| U AT 10 ¥ 15 Td 2 3h & UH 2 | U AT 16 | 23 TP 3 3D & UeA
21 U T 24 W 30 AP AR 3fH B YA B |

Each part of question No. 1 carries one mark. Question No. 2 to 9 are of one mark
each. Question No. 10 to 15 are of two marks each. Qestion No. 16 to 23 are of
three marks each. Qestion No. 24 to 30 are of four marks each.

39 UH-UF H 9HY R Pl fddbey T8l § aufd wfaug =l | IndRe fddey

ger fear a1 81 U uvl § F Pdol Up fdbed &1 & IR I |

There is no overall choice in this question paper, however, an internal choice has

been provided in few questions. Attempt only one of the given choices in such
questions.

v

1. TAUHA & TP @US & IR ¥ IR [Adven A MU €| 981 fAwed o IR gRaaer #
TRIT | 1x8

Four option are given in each part of this question. Write the correct answer in your note

book.
(@) -8 FaoTs ey $HH Ui ST B—
(i) CeHe (i) CoHe
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Triple covalent bond is found in —
(i) CeHs (i) CaHse
(iii) C3Hq (iv) CHsCHO
(@) SMIRA & A IR DI UlhAT H, AR W IR =g & oIy Ugaa o1 & —
(i) vgfRm (ii) iferas
(iii) NP (iv) oS

In the process of galvanisation of iron, the metal used for the coating over iron is -

(i) Aluminium (ii) Galium
(iii) Zinc (iv) Lead
(M g8 Sha s S # 318 SHR fABRIT 81e: a1 Sita 99 ST 8 i a1 § —
(i) orfaT (i) URENRRE
(iif) RTgSIT™ (iv) de
The organism in which an outgrowth on the parental body develops into a new individuals is —
(i) Amoeba (ii) Paramecium
(iii) Rhizopus (iv) Yeast

(=) Tl BIRBT & BIfRTbIEed H aFdg iR AR Sl & qd] H Tl & fagued

@ AR H DI AT 3] IU &Il &7
(i) otfded 3w (i) T
(iii) BT STATRITSS (iv) UIRde

Which one of the following molecules is produced initially when glucose break down in the
cytoplasm of a cell in aerobic as well as enaerobic respiration —

(i) Lactic acid (ii) Ethanol

(iii) Carbon dioxide (iv) Pyruvate

(e.) Tl fdv 1 Jfadel gUOT gRT 94T Ufdferg 9l Her dor faw & a1 urm 7| 9%
o1 Rerfa @&l g1 arfy?
(i) 9= BIHd TAT ahal b= & a1 (i) ThaT Bw TR
(iii) THAT B T W (iv) TUOT & gd qAT T BIHF o 41

The image formed by a concave mirror is observe to be virtual, erect and larger than the

object. Where should be the position of the object —
(i) Between the principal focus and the centre of curvature
(ii) At the centre of curvature
(iii) Beyond the centre of curvature
(iv) Between the pole of the mirror and its principal focus
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@) 79 95 @ T AT WR e o &1 ufafes g ar € 9 ® -

(i) I (i) aRarRe®r

(iii) geTell (iv) gfeuea
The human eye forms the image of an object at its —

(i) Cornea (ii) Iris

(iii) Pupil (iv) Retina

(B) FrefoRad @ & @9 |1 ug fagd uRuer 4§ fega wifdd &1 FsiUd &=ar 2 |

(i) I°R (i) IR?

(iii) VI (iv) V3/R

Which of the following terms does not represent electrical power in a circuit?
(i) IR (ii) IR?

(iii) VI (iv) V¥/R

() FrforRad § | 9 MER s@ell & FEor oxd 87

(iy =, g, M (i) =M, 9, ¥R
(i) g1, T, Brelt (iv) o9, A9ell, gh3l
Which of the following constitute the food chain?
(i) Grass, wheat, mango (i) Grass, goat, lion
(iii) Goat, cow, elephant (iv) Grass, fish, goat
2. H'(aq) M9 &I Al BT [T & UgHfd IR 3T Y919 ISl o7 1

What effect does the concentration of H*(aq) ions have on the nature of the solution?

3. B A arg S A HeRa TE By 27 1

Which metal do not corrode easily?

4. U1 DI ITS JMAARS H U I3 & oIy fore IRmafies Ushe &1 SUART fhar ST 27 1

What chemical process is used for obtaining a metal from its oxides?

5. ARTSH &1 BIF A1 9RT IRR &1 RAfT oI I T SRET IRl 272 1

Which part of the brain maintains posture and equilibrium of the body?

6. 3 B FHOT &THAT I T YT 87 1

What is meant by power of accommodation of the eye?
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7. T A9 fSexolie BT STANT B a1 Ahd & (b Dl ST SR & JqdT 7812 1

Would you be able to check if water is hard by using a ditergent?

8. fagd aRT @1 A9 fH9 IF gRT I WA &7 1

By which instrument is electric current measured?

9. U WX AT 87 1
What is tropic level?

10. UBT HIIYUT &1 UfhAT & FHA B Tl "Rl &l I HA H gl 918 | 2
List the events in proper sequence that take place during the process of photosynthesis.
11. Fe=feRea @1 seiag= fa=g |R=AT a1 8nfi? 2
(i) VIHTsH 3ral (ii) H5S
What will be the electron dot structure of the following?
(iii) Ethanoic acid (iv) H,S

12. Q1 13l & A 9a Sl O 3R ¥ SISl B ORIIUT &) <3 d1 &1 arqu Sl Ul
TE IR AHAI ¢ | 2
Name two elements which will displace Hydrogen from dilute acid and two metal which
will  not?

13. WG 07 7 27 ISTERVT & A1 FHSy | 2
What is an homologous series? Explain with an example.

14. UH TAABT BIRIGBT & AT BT W5 T 9180 | 2
Draw the neat and clean diagram of structure of neuron?
15. Ty oidRer ATAT BT SMHT el B YT HTel R Uehid BIaT 2° 2
Why does the sky appear dark instead of blue to a astronaut?
16. (i) a1g H T ¥ Ug AIREA Rad &1 % =17 far Srar 27 1
Why should a magnesium ribbon be cleaned before burning in air?
(i) TP uered X' & facae &1 SUIRT A%l B & folv BT 2— 2

(@) geTd X' &1 AW qeT gHGT G forlag |
@) SR (B) # forg vl X' o S & | AfAfhar faRae?

A solution of a substance ‘X' is used for white washing-
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(a) Name the substace X’ and write its formula.

(b) Write the reaction of the substace X' named in (a) above with water.
312rar / OR

FHIDHROT Fferd BTy —

Write balanced chemical equations -
(i) BaCl; + H,SO4 — BaSO,4 + HCI
(ii) Al + CuCl, — AICl5 + Cu

(iii) Na + O, =+ Na,0

17. (i) 9IfST9 @1 e & a1 # SAIa) @1 oar & J1?
Sodium is kept immersed in kerosene oil why?
(i) woi= T fAmoq § Serervr afed 3faR forRav |

Differentiate between roasting and calcinations.

18. I1 @ 3Ffaed FIc &1 W5 o 918y aon sad fferRaa Wil &1 sifsa aiforg |
(i) RI BTy (i) 4 SEAp) (iii) AvSTRI™I
Draw a neat and clean diagram of the longitudinal section of a flower and lebel the following parts
in it.

(i) Anther (i) Stigma (iii) Ovary

37211/ OR
A9 3994 03 &1 oo o 99180 a1 S8 14

fofRad WIRTl & 3ifdhd BIRTT |
(i) zara=Teln (i) iU (iii) BFRH
Draw a neat and clean diagram of the human respiratory system and lebel the following parts in it.
(i) Trachea (i) Alveoli

3

(iii) Lungs
19. (i) UTGY BMA 44T 87

What are plant hormones?
(ii) e frard dem ufdacdt g v R & 59 gaR e 87

2
How are involuntary actions and reflex actions different from each other?

20. (i) ORI ORT ERT UG Sl B &R BT MERT & fHAr Siar 27? 1
What determine the rate at which energy is delivered by a current?

(i) BT g e 220V & A I GANST &, AT ded I 0.50A AT &RT yarzd il
g Al ded B wfad a1 BRMT?

2
An electric bulb is connected to a 220V generator, the current is 0.50A. What is the

power of the bulb?
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21. & v uRuer smxg # o HIfSTT —

In the given circuit diagram calculate -

(i) gRuer T Het TR | 2
The total resistance of circuit.
(if) uRuer & yarfed del fagd anT| 1

The total current flowing in the circuit.

200 100
AAA AN
" LA RLA B YVVy -
3 >
..l »
4 -.."l'n AA A i
L B — Yy Vi
30 250
e
- — | |—= X
24 Volis

22. U% faemedt it fo <iftm dfad & 9o1 B, &I wmHue ued # SfeE Bl 81 I8 f59 uaR
BT Y 87 P IO B9 P &l BRYT IRIT | I NG gIRT FHMSY SHBT [ARTHRO]
&Y fHar ST Adhar 87

A student has difficulty in reading the black board while sitting in the last row. Which type
of the refractive defect of the eye is it? Write two reasons for its occurrence. Explain with
the help of a linear diagram. How can this be solved by glasses?

3

23. URAH ¥ Y T T 87 YR H ATHATSID] B FIT YfAdT 87? 3
What do you mean by ecosystem? What is the role of decomposers in the ecosystem.
31rdT / OR
(i) 3NSI @IT & de I8 fohdl Rd= & fod IR g9ifad &=ell 87 2
What is ozone and how does it affect any ecosystem?
(i) |7 erolg f=fieur uerelf & AW faRkau | 1

Write the name of two non-biodegradable substance.

24. (i) Yt IrfAfdhar &1 qar 212} 87 STV Afed HHsy | 2

6|Page



What is meant by Redox reaction? Explain with an example.

(i) SSRIFIGHROT JHAHIT FT 87 ]I IITERIT Iy |
What is neutralisation reaction? Give two example.
31ed1 / OR
(i) <IRex 3 IR &1 Sial | 31f¥fshar &1 wHiexor fIlkau |

Write the reaction of plaster of peris with water.

(i) 3Tt ®T e e faggd &1 ared Fi HRal 57
Why does aqueous solution of acid conduct electricity?

iii) AT USSR &1 J9RIIe A/ 9 g3 foRay |

Write the chemical name and formula of bleaching powder.

(iv) BT e & a1 STIRT forlkay |

Write two use of baking soda.

25. (i) 3mud U <& faera= ‘A’ 3R ‘B’ 2| faeiad A @ pH &1 719 6 8 U4 faaa< B & pH

BT A4 8 2| fha facaq & grgsioig 3T &1 Arsdl 3ifd 87 398 9 $IF il @

TAT DI IRBIY 87?

You have two solutions ‘A’ and ‘B’. The pH of solution A is 6 and pH of solution B is 8.

2

Which solution has more hydrogen ion concentration? Which of this is acidic and which

one is basic?
(i) I DI ST W 99 B &I ad gq1sy |

State two ways to prevent the rusting of iron.

26. (i) AUSH & TANT A A U1 <ol b A= Feqo1 wda 9 | 9emgad 8id 27
How do Mendal’s experiments show that traits are inherited independently?
(i) Frved Far 87 9rEg e g SffaRe e # SR ararsy |

What is fertilization? Differentiate between external and internal fertilization.

27. (i) 9a ¥ T2 &1 foivr fAgRor &9 grar 27

How is the sex of the child determined in the human beings?

(i) T FRrM @7 ®1g < AfeRT gdrsy |

Write down any two methods of contraception.
OR (a72ran)

(i) g IS TF BT Y AS] ARE W oldel fhAr AT o g4 |

Draw a well labeled figure of human excretory system.
(i) T B ARG R’ 5P

What is the composition of urine?
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(iii) fs foet =Ifth & ST T[e afcR 81 S} a1 98 &9 Siifdd I8 AdhdT 87

How can a person survive if both of his kidneys are damaged?

28. (i) feved Ig@ved ¥ &9 yoR = 57 2
How does binary fission differ from multiple fission?
(i) AT & IS dF BT W@ I 9918 | 2

Draw a neat and clean diagram of Human excretory system.

29. T30 3Tl o B BIHd g 15941 & fam &l o 4 fhadl g R W & g9 g
frg &1 o 3 1099 O R 9l 997 ol gRT ST STaee Wl = iy | 4
A concave lens has focal length of 15cm. At what distance should the object from the lens
be placed so that it forms and image at 10 cm from the lens? Also, find the magnification

produced by the lens.

31rdT / OR
(i) BT & 3Uaad & a9 forRau | 2
State the laws of refraction.
(i) 9 ST TUI B Bidd X A DITSTY [STAd! ashar Brear 323+ 2 | 1
Find the focal length of a convex mirror whose radius of curvature of 32cm.
(iii) R BT YA 242 | 39 HAT A R AT 27 1

The refractive index of diamond is 2.42. What is the meaning of this statement?

30. (i) 2kw TR SFHID BT b fAgd dgx bl Bve] faga aRuer (220v) # yefera fsar
ST & TorRIaT fae[d &RT S/gAdic 5A 8, S99 MY & URUIM &1 3uer HRd 27
T PHIY | 2
An electric oven of 2kw power rating is operated in a domestic electric circuit (220V)
that has a current rating of 5A. What result do you expect? Explain.
(i) FOT &F IR & O B JA 99187 | 2

List the properties of magnetic field lines.
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